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1. Which one of the following machinery was 1. 208 738° 0TS’ Eross H0800HES

created in Britain in 1967 to examine the 1967 &° ©e058° Jomean DoXerds odoEono
complaints of mal-administration ? 28 9

(A) Ombudsman (A) @oenéRod

(B) Whitley Council (B) 2ed TS

(C) Parliamentary Commissioner (C) rCa0oed &b

(D) Procurator General (D) (50500 e0S

2. Who introduced the LPG (Liberalisation, 2. erEE0FE DdESE, De3EsE SoB0%

Privatisation and Globalisation) model of 0055 @5331)@ OROTTR0 D0
development in India ? (EFRTE ?

(A) Dr. Man Mohan Singh (A) 205375°8 oh

(B) P.V. Narasimha Rao (B) .. 380058 o)

(C) Montek Singh (C) 5070838 20h

(D) V. P. Singh (D) 9.%. 206

3. Theidea of an Indian Constituent Assembly 3. grGS Trarol DONS BPHSE ERES0NT JHS

was put forward for the first time by BT EOTED ?

(A) Maulana Azad (A) o eserd
(B) Annie Besant (B) esd0ss

(C) M. N. Roy (C) awo. oS, ook
(D) M. K. Gandhi (D) a¥o. 2. mod




4. Which of the following statements are

correct with regard to rationale for

disinvestment ?

1.

Stemming further outflow of these
scarce public resources and making
public sector as unviable

Reducing public debt

. Transferring the commercial risks to

the private sector

Use of manpower resources in excess
of actual requirements

(A) 1,2,3 B) 1,2,3,4
(C) 3,4 (D) 4 only

5. Match List | with List II

Listl Listll

. Performance 1. Truman
Budget

. PPBS 2. Johnson

C. Zero Based 3. Carter

Budgeting
. Management 4. Peter Drucker

by objectives

Codes :

A B C D
A 1 2 3
B) 2 3 4 1
Cc 4 3 1 2
) 1 3 4 2

AN O
4. R0 GHR0TOED PBIREH Koo,
80¢5 28 TIPS’ DB OB ?
1. S58m &) Ber S50 $0008m €0
200 B sTCSHCECEn0 SOEIOT (HedSs
o ooy 2808 Ao BT

2. (BabE; eipos BAOSEIS

3. TedesgdTonT Sy HE0RER (REnTonrds
208 Daneds

4, &5350°08 oo HI75D H5HBe80

DABTACREIR
(A) 1,2,3 (B) 1,2,3,4
(C) 3,4 (D) 4 soE

5. 200563 0635550 Bocss 06358 essianod

S5 -1 S5 =1l
A d5TTTroaged 1. @IS
B. &.2. 8. a0d 2. 2R

&

A B C D
A 1 2 3 4
B 2 3 4 1
C 4 3 1 2
D 1 3 4 2



6. A : Article 21 of the Indian Constitution
guarantees protection of life and
personal liberty.

R : Right to live with human dignity also
includes protection of health.

(A) Both A and R are true and R is the
correct explanation of A

(B) Both A and R are true, but R is not
the correct explanation of A

(C) Aistrue, but R is false
(D) Ais false, but R is true

7. Research Methods refer to

(A) All aspects of the implementation of
research methods

(B) Set of abstract concepts and their
relationships

(C) Procedures a researcher uses to
gather data

(D) Framing research questions

8. Statistics is used in research to
(A) Validate the findings
(B) Analyse the empirical data
(C) Define variables
(D) Confirm the research findings

9. Which of the following are principles of
Social Welfare Administration ?
1. Acceptance
2. Content
3. Open communication
4. Participation
(A) 1,2,3
(B) 1,3,4
C) 2,3,4
(D) 1,2,4

6. 31 P08 TerENoST) 215 (8 58 g0
508010 8T8 55Ead0 50300

wb: 58 AusEson 2o 75, & el S5
& o8 27e0

(A) D080 b Bocir HOARHY 0O esd
2 & BB ASTE

(B) 2 208010 esb Do D030 570 esb
2 & BOGD INSE? 9

(C) 220300 520 esb &y
(D) 8y 570 esb 08O

7. 208 5e5B0e0 A JDTo0

(A) 505D 5000 5080H0NN e9d) 80T
900

(B) D¢ @ory groen 5000k T Bl
020G

(C) Smros 250638’ BOTEHE EDBTAD
D50

(D) 08¢ T SrFrododEo

8. 505°5S" Nerosrery e &R
(A) B0FEHE D06 0% 90T EGSAFHN0
(B) esdogssimnes ¢5eos A3mend
(C) 557%0%e] ooy AIoHueatd
(D) 208 $OT 0 GRS BE S

9. 208 738 Jr0m08 BOFH e KrEren D 9
1. so®ows
2. dJgHo
3. (BT 9550e
4. ePNIGR050
(A) 1,2,3
(B) 1,3,4
(C) 2,3,4
(D) 1,2,4



10. Which one of the following is not a social
security legislation ?

A) Payment of Gratuity Act

(
(B) Workmen’s Compensation Act
(C) Maternity Benefit Act

(

D) Indian Contract Act

11. Development Administration is known for
its emphasize on

1. Research

2. Progressive political, economic and
social goals

3. Administrative development
4. Agriculture development
(A) 2,3
(B) 1,2
(C) 3
(D) 2,3,4
12. What is the chronology of events with
respect to agencies in finalizing the plan
project ?
(A) Planning Commission, N.D.C.,
Legislature, Ministry
(B) Ministry, Planning Commission,
N.D.C., Legislature
N.D.C.,
Commission, Ministry

(C) Legislature, Planning

(D) N.D.C., Planning Commission,
Ministry, Legislature

10. 200 73" D0 FRTHE L 15620 S
(A) [reaged Do) H630
(B) 230580 5855 19¢30
(C) ©:>& Bairesd 0

(D) &r5 a0l 960

11, (K8 e B3 Prergdlnod
1. 568
2. Eid%e TresSaw, QY 3000y FEIEE
®§°§®J
3. i)‘@?ﬁ)é@)@
4. SESTOTHND
(A) 2,3
(B) 1,2
(C) 3
(D) 2,3,4
12, @erdse Sa5ve Srtme SCiEnod” $ob DB
5500 QeI 2
(A) Berdse Dovo, SATDHE 5008,
TR0 29, D00 BB TP
(B) S001985 77, [HeTIs° 0500,
BTN 00, TR e
(C) 5% ey, erSarDSQ S00ed,
TS LHO0, oD T°P
(D) erSairDR)E 500G, Herds D000,

S0 T, THD B



13. A:

(A
(B

(C
(D

The Institution of Lok Pal was primarily
designed to be an instrument of
redressal of citizens’ grievances.

: “Citizens’ Charter” is an instrument to

improve the quality of public services
and helps to enforce citizens’ rights.

) Both A and R are true and R is the
correct explanation of A

) Both A and R are true, but R is not
the correct explanation of A

) Alis true, but R is false
) Alis false, but R is true

14. One of the followings author has discussed
the characteristic features of the
developing countries as below :

1)

3)
A
B
C

(
(
(
(D

All countries including those which
escaped western colonisation, have
consciously tried to introduce some
version of modern western
bureaucratic administration. In a
country which was formally a colony;
its administration will almost certainly
resemble that of the colonizer

These bureaucracies are deficient in
skilled manpower necessary for
developmental programmes, the
shortage being of trained
administrators with management
capacity, development skills and
technical assistance

These bureaucracies are other than
production oriented

) Edward Widner

) George Fredrickson
) Ferrel Heady

) Milton Esman

13. 2

P SEPS 950% Berdor FEFE ITed
EFSHER DobeGod.
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15. Which Article of the Indian Constitution

abolishes “untouchability” ?

(A)
(B)
(C)
(D)

Art. 14

Art. 15

Art. 16

Art. 17

16. Match the List | to List I

List |
Social Equity

Cross-Cultural
Administrative

Study

Social Groups

in Developing

Society

Economic
Scenario in
Developing
Society

A B C
2 3 1
3 2 4
1 2 4
4 1 2

2

List Il
Bazar Canteen

Comparative
Public

administration

New Public

Administration

Clects

15. 5768 Teronod) O (R0 G0 ©0oLITPIBK0

AT PoercioBood
(A) R552014
(B) ©55e315
(C) ©gsea 16

(D) ©s517

16. Doocsed 563550 Bowsd 56358 wBdEow0d

25— 1 25—l
A. FEresosrsso 1. eerbsels
B. it Sorydo0 2. BOORTEE (380%;
TPS° 9¢350000 PO
C. wf5QDochory 3. SrE Eabiss
DSrered TRrRE T
0075380
D. ef5g Doy 4. 3%
OFod 05
0% 509
A B C D



17. Which one is not the characteristic of a
Prismatic Society ?

(A) Heterogeneity
(B) Overlapping

(C) Institutionalization
(D)

D) Elite domination

18. A : Administrative corruption is rooted in

administrative as well as
non-administrative sources

R: Administrative corruption is an
upshot of secrecy and confidentiality
in the conduct of public affairs

(A) Both A and R are true and R is the
correct explanation of A

(B) Both A and R are true, but R is not
the correct explanation of A

(C) Aistrue, but R is false
(D) Ais false, but R is true

19. Making inferences from a very specific
observation to a broad generalization is
called

(A) Induction
(B) Deduction
(C) Logic

(D) Conclusion

20. The Citizen Charter launched by P.M. of
U.K., John Major in 1991 aims at

1. Making administration accountable
and citizen friendly

2. Ensuring transparency

3. Adopting a stake-holder approach
4. Giving rights to citizens

(A) 1,2,3 (B) 2,3,4
€)1, 2,4 (D) 1,3,4

17. 308 738" FEE0E D5Ted) 050 IO DO 9

(A) %ﬁso

(B) e

©) % 2§(o§®o{5?,acsc§o
(D)

D 0 QB0

18. o : Fome @IIBL Soreren TS 580X
VLRV o] @o%“’ef &0
&b (Baby SEEITek SRRSO ARrotieso
59 ToHE @IS TP
(A) D 5oB0% esbBoET SO O esd

2 £ D0CHD I08ed

(B) 2 50800 €58 Bocsr O3S 570 esb
2 & BBGD NS 9

(C) 220300 20 esb By
(D) 85y 570 esb 00O

19, 8% IEITe eR0gH50 STREOTT NS SPERORD,
KT U RGO TR0 DALY

20. ©eS B enS Doesd 1991 &° 6 5550 BErdy
2 OFT50R0 ROV FPEOHOBEING

1. Jod00 Eesofd DSyBon, JrSaSd0on
€:0Ca62¢20 WONT3

2. ﬁ"GCSCig§®éJ THoWEEIS
3. &5- 53‘3825 VS T30S
4. TS0 T°E) 0 IS

(A) 1,2,3 (B) 2,3,4
1, 2,4 (D) 1,3,4



21. Formalism is referred as

(A) Simultaneous presence side by side
of quite different kind of system

(B) The degree of discrepancy and
congruence between formally
prescribed norms and realities and
effective practice of norms

(C) Extentto which formally differentiated
structure of a diffracted society
co-exist with undiffracted structure of
fused type

(D) Very high degree of congruence

22. Under which schedule of the Indian
Constitution, Acts and Regulations cannot
be declared to be void, though they may be
inconsistent with some provisions
mentioned under the Fundamental Rights ?

(A) 9" Schedule
(B) 10™ Schedule
(C) 12" Schedule
(D) None of the above
23. The objective of social reform is to
(A) Help minority group

(B) Assist socially and economically
weaker group

(C) Bring about social change

(D) Provide help to senior citizens

21, TroRHSB50 DAV D08 ?

(A) D% Sg9e0 D008’ o8 d B, 2.5
502 &88° ociso

(B) gropsorn JGBods ©HhreTed $o00Kw
TR a3 e5iEaD 5065 €00 B0 8T,
D85 o

(C) B985 D3Tered® erodson Jpoeds
08D S@&mo D0C3T°EIEE DRNI°LTO DI

D0 508 2 Botr &AS® oo

(D) @908 3(;03368 9 DRI WIETSE

22, D0 OAHs AOHRTes S, 0 goro
SONSIED 92 DY grED TerEiod D O
7S Do)

(A) E20055 ward
(B) 2¢55 2¢arS
(C) Spoces wEreS

(D) 330 5%

23. TRTEE B0R),580 ©F 0
(A) ©0y30grs oo 708 HTPabNEEo
(B) &57@¥orr $o00ks esg¥om 3Boswdis
QT DAL 0
(C) 57e9E 5800 BROHTHEO

(D) )00 5P wodowo



24. Which of the following characteristics are
correct with respect to hypothesis ?

1. Clarity
2. Specificity
3. Related with theories
4. Appropriate size
(A) 1,2,3
B) 1,2,3,4
(C) 2,3,4
(D) 4 only
25. Abolition of dowry is an example of
(A) Social work
(B) Social service
(C) Social reform
(D) All the above

26. Under which Article of the Indian
Constitution was Commissioner for
Linguistic Minorities created ?

(A) Article 351-B
(B) Article 16 (4)
(C) Article 15 (4)
(D) Article 350-B

27. Which of the following scholar is not
associated with New Public Management ?

(A) Christopher Hood
(B) Osborne and Gabler
(C) Polit
(

D) George Frederickson

24, 203N Ho0todHo®H 355 dod Te3E D
OFET°20 DO
1. 98
QROTT® QIO
?oqgo@"@é $502200IE
QB HBJT°E30
A) 1,2,3
B) 1,2,3,4
C) 2,3,4
D) 4 srEdo

25. 505 D050 BIS e

26. 5PRHS weRorS S0P S0 gTE
TerErod) O E¥5E TR D070 Talbex B0l
(A) 55 351-B
(B) 55316 (4)
(C) 505> 15 (4)
(D) ©s5e> 350-B

27. 200708’ 58 (ehE ITHTers $5020¢50 S
TOT TN IS 2

A) @0 b

C) ®e5

(A)
(B) esRexdy 508050 mrefed
(C)
(D) &f 3cosaS



28.

29.

30.

“I believe that the objective for
disinvestment should be to benefit the public,
the consumer and the investor and at the
same time to improve the competitiveness
and eliminate monopoly”. Who made this

statement ?

(A) George Fernandes
(B) Man Mohan Singh
(C) Pranab Mukerjee
(D) Montek Singh

The incrementalist approach to policy
making is advocated by one of the

following
A) Charles Lindbloom
B
C

D

David Easton

(A)
(B)
(C) Y. Dror
(D)

A. Etzioni

“Policy science can be partly described as
the discipline that searches for policy
knowledge that seeks general policy issue
knowledge and policy making knowledge
and integrates then in to a distinct study”.

Identify the author of this statement.
(A) David Easton

(B) Yehezekel Dror
(C) Charles Lindbloom
(

D) Nicholas Henry

28. T3 S0 AE0E3, 2R GHD0RTE
O 50 E3es%0, AIAITPNTTOIS — ERETTOIS
(BATe0T O 0o Bodakn &t Soakod”
MO D@00 Fedse s
OTPORONEO". &8 TG D DT 2

(A) e§ o0en
(B) 508257508 2oh
(C) evel S0

(D) $0&k ok

29, QKD HEYBy TOS D AT EFHIO
SODOOVL (N (BT Q0T ?
(A) 0% do&arTo
(B) G& By
(C) 2.&d

(D) 2. &8

30. “DT TRRDE DG Ve Wesaibisod” gy
KO, @98 TS DGO QTR BBk I
SR80 ;’)wawﬁ)& BBJICVE0 D0 ©b &8 @3§§
96501326 IOFOTT HOHBBOE0LOH”

B8 AT 0671 G008 I 2
(A) GI& Bays
(B) 22585 b
(C) TR dokerrad

(D) 5% R



31. Match the List | with the List Il 31, 200563 563550 Bodas 96358 et
Listl Listll S8 — | S|
A. Bureaucratic 1. Agraria,
Transition, A. a8 harsaog 1. 0SS,
Industria TPORTEAD,
B. Behavioural 2. Administrative 55500
systemis a
sub-system in B. &¥gsareo 2. oo $57resod”
the society 08 G553
C. General System 3. Analysis of
human C. e g9 3. oo ﬁ)c"&e'aoe‘is
behaviour in SOV ot
administrative
_ SO tar)
setting °
S
D. Ecological 4. Legal-Rational D. et 4. Tyl - rEeg
Authority (Ecological) Iagee
A B C D
A B C D
A 4 3 1 2
A 4 3 1 2
B) 3 4 1 2
B 3 4 1 2 ®)
©C 3 4 2 1 € 3 4 2 1
D) 4 3 2 A1 by 4 3 2 1
32. Grapevine refers to 32. ‘BHRS B B0y
(A) Formal communication (A) PO (PalEAS EITTPed
(B) Communication using groups (B) $505550% 5000 / &9CITR0w BTro
(C) Informal communication (C) oropdEraXo 320 RITPeHd
(D) Downward communication (D) &350 BT




33. Which of the following propositions are | 33. 2o¢s gﬁbé&bwgﬁmw (propositions)

useful for rational decision making ?

1. The values taken as organisational
objectives must be definite, so that the
degree of realisation in any situation

can be assessed

2. It must be possible to choose factual
premises whose truth or falsehood is

not definitely known

3. Itmust be possible to form judgements
as to the probability that particular

action will implement these objectives
(A) 1,2
(B) 2,3
) 1,3

(D) 1,2,3

34. |dentify the chronological order in which

the following institutions were established
1. National Integration Council

2. Central Vigilance Commission

3. Bureau of Public Enterprises

(A) 3,1,2

(B) 3,2, 1

(C) 2,3, 1

(D) 2,1,3

%soéoaacg APAOTEEEED EDDTHHETON 2

1. ;“3533“%) ®§§®§> D0200000 DLVHDeD
DINBABIT €063 %63 AewHoed

DORBOOE I FROUER) YOTTHOLEO

2. 5200607 DG TRPOD0 B0
Dot Hesong Tl vEmpts S B

pinpor Beodoshieo TG0 S

3. a8 DGR OF LD DEDH0ENOE Ao’
©I0TT® DODCO G550

(A) 1,2

(B) 2,3

(C) 1,3

(D) 1,2,3

34. Gocs 28R H0ge TS’ TOESTROTTR)

heleleinlele

1. erHol ST H00esd
2. 20(g5 VBT 50500

3. (©and; Soi Hoge ard’
(A) 3,1,2

(B) 3,2, 1

(C) 2,3, 1

(D) 2,1,3



35.

36.

37.

Administration is a planned approach to
the solving of all kinds of problems in
almost every individual or group activity,
both public and private. The above
statement refers to

1. Planning

2. Co-operation

3. Generating profit
4. Providing goods
(A) 1,2

(B) 1,3

(C) 3

(D) 2

Who defined the development as a state

of mind, a tendency and a direction rather

than a fixed goal ?
(A) F. W. Riggs

(B) Weidner

(C) Milton J. Esman
(D) C.I.Barnard

The Mahatma Gandhi National Rural
Employment Guarantee Programme
seeks to provide guaranteed employment
for atleast

(A) 90 days

(B) 100 days
(C) 150 days
(D) 200 days
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38. Who among the following is not called as

a Neo-Human Relations Philosopher ?
(A) Likert

(B) A. Maslow
(C) Mc Gregor
(D) Luther Gullick

39. “Participant Observation” as a technique in

Research method can be successful only if

1. The Researcher participates in
activities

2. The researcher is accepted by the
community he/she studies

3. The observations are undertaken
outside the community he/she studies

(A) 1,2,3

(B) 2and 3

(C) 1and 2

(D) 1and 3

40. A : Development programmes like

IRDP, MGNRZGA etc., have been

activated to empower the poor and

address the problem of poverty

R : Empowerment refers to transfer of
control over decisions and resources
for equity, participation and
sustainability

(A) Both A and R are true and R is the
correct explanation of A

(B) Both A and R are true, but R is not
the correct explanation of A

(C) Aistrue, but R is false

(D) Ais false, but R is true
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41. A :

Task theories of leadership behaviour

prescribe a clear norm for management

R : Leadership style and behaviour are

related to administrative effectiveness

(A) Both A and R are true and R is the
correct explanation of A

(B) Both A and R are true but R is not
the correct explanation of A

(C) Aistrue, but R is false

(D) Ais false, but R is true

42. Match List | with List Il

Listl
A. Coding

B. Correlation

C. Sociometry
A B
(A) 3
B) 3 1
(C) 2 4
D) 3 4

Listll

. Technique for

measuring
social interaction

. Frequency

distribution of
events

. Procedure for

categorization

. Relationship

between two or
more variables
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43. “The primary obstacle to development is
administrative rather than economic”.
Identify the scholar who made this

statement ?

(A) F. W. Riggs
(B) Donald Stone
(C) Ferrel Heady

(D) R. K. Arora

44. The data gathered by someone other than

the researcher conducting the study is
(A) Primary data
(B) Secondary data
(C) Qualitative data

(D) Quantitative data

45. Which of the following Constitutional
Amendment of the Indian Constitution is

considered as “practically a revision” ?
(A) 40™ Amendment
(B) 42" Amendment
(C) 44™ Amendment

(D) 48™ Amendment
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46. Who amongst the following prepared the
background paper on “Criteria of
relevance” as a frame of reference for
Comparative Study of Administration ?

1. Riggs F. W.
2. Herbert Simon
3. Wallace Syrye

4. Herbert Kaufaman

(A) 1,3
(B) 2,3
(C) 3,4
(D) 1,4

Read the following paragraph and answer
questions 47 to 50 :

ICT and Rural Development in India

Taking ICTs to the grass root level is a
daunting task owing to the sheer geographic
expanse of rural areas in India. Besides, the
Indian rural areas are marked by poor living
standards, illiteracy, poor infrastructure and
social problems. The major challenges that
need to be addressed for reaching out to the
rural common man include :

. Assessment of local needs - every ICT
project should consider the local needs of
the intended beneficiaries as a starting

point.
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ICT solutions based on presumed and felt
needs will not yield desired results. In a
country as diverse as India the needs would
vary from one area to another based on
different social conditions, economic bases,

cultures, etc.

Connectivity — Telephone connectivity in
India is about 3 percent and will not rise much
unless the last mile cost can be lowered.
More cost effective communication
technologies based on wireless such as

CorDect should be explored for use in remote

and rural areas.

Content — Localising government content in
local languages and local context is of critical
importance in India. For the majority of Indians
who speak little or no English, ICTs make little
meaning as most of the websites present

content in English.
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Regular updating of content is also desirable.
As a normal process, most of the content
should be driven by backend processes and
automatically updated. In the absence of full
automation the content should be updated
regularly on the websites of government

agencies.

Capacity — Itis not enough to just provide ICT
services. It is equally important to augment
human capacity and empower people to

utilise ICT to access and use the services.

Commerce — The underprivileged sections
of the society are not very well organized to
meet the demands of Internet commerce.
Further, the prevailing infrastructure (technical
as well as legal) is not strong enough to elicit

favourable responses from the people.

Sustainability — Using and maintaining
service delivery centres involve substantial
costs and can become a major concern for

continuation of rural ICT projects.

Planning for long-term sustenance of the
centres is equally crucial for their success.
Other usage of the service delivery centres
such as local-to-global and local-to-local

e-commerce should be explored.
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47. Taking ICT to the grass root level in India

is a difficult task because of

1. llliteracy, poor infrastructure and social

problems

2. Similarity of local needs

3. Lack of uniformity in language and
context

(A) 1and 2

(B) 2and 3

(C) 1and 3

(D) 1,2,3

48. A : Cost effective communication

technologies help rural areas

R : Poor living standards in rural areas

hamper telephone connectivity

(A) Both A and R are true and R is the

correct explanation of A

(B) Both A and R are true but R in not

the correct explanation of A
(C) Aistrue but R is false

(D) Ais false but R is true
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49. Match List | with List Il

Listl Listll
A. Content 1. Accessibility
and
empowerment
B. Sustainability 2. Local based
ICT solutions
C. Capacity 3. Context and

language

4. Ability to support
ICT projectsona
long-term basis

A B C
A 3 2 4
B) 3 4 1
C) 3 1 4
D) 3 2 1
50. A : ICT solutions based on presumed

and felt needs will not yield desired
results in rural areas

R : Rural needs vary according to social,

economic and cultural condition

(A) Both A and R are true and R is the
correct explanation of A

(B) Both A and R are true, but R is not
the correct explanation of A

(C) Aistrue, but R is false
(D) Ais false, but R is true
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